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PAPER CODE-PL-2 (SHIFT-3)
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GEEil 30 31 60 14 16
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Tt 30 31 60 25 28
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(1) W11 (hae T WTET) 30 61 90
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EL Kl 30 61 90 41 43
HEHd 30 61 90 44 47
T4 30 61 90 48 52
Rt 30 61 90 53 56
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3)
SECTION -1
qug - |
CHILD DEVELOPMENT AND PEDAGOGY
e e g femmeme

There are 30 questions in all in this section.
All questions are compulsory.
30 @Ug H A 30 TH £ |
T4l oA SEE € |

Which statement is NOT true as a principle of development ?
(A) Every stage is equally important for development.

(B) Development is the product of maturation and learning.
(C) There are individual difterences in development.

(D) Developmental patterns are predictable.

s m s ian m s g TE 2 7

(A) Tershrd & Ford weden voRe 4 &4 8 Weea gl 2 |

(B) faarrar, uftasraren den dieH &1 ufomg 2 | 5
(C) fawm & wfdrma faf=and & 2 | ﬁ%f
(D) fo=hme & yreu EiHa Ed 2 |

Theory of moral development was propounded by whom ?

(A) Robert J. Havighurst (B) Lawrence Kohlberg
(C)  Elizabeth Hurlock (D) Lev Vygotsky
e T 71 firgra fepweh gro wfamifea fopam mm o 2

(A) TS, foeed (B) ] siger

(C) UferaTsY el (D) e e

Individual differences in career choices are explainedby
(A) Differences in cognitive abilities

(B) Temperamental tendencies

(C) Differences in cultural background

(D) Differences in aptitude

SEHE 934 1 dafaas fafirarsi &1 e gro aeemn e 2 -

(A) TFHTHS TFAIST T 3T (B) w@WrarTd ygfea

(C) wiepiaer quyfit 1 3= (D)  Ffremar § 3

Role of environment in child development is best reflected by

(A) Temperamental tendencies (B) Personality disposition

(C) Primary reaction patterns (D) Habit formation

aret Teeprn o arararon it yfir + gRI w8 ot =1 ° vfafafrea g 2 |
(A) TEWIETd St (B) eAfadcd i Uhid

(C) st gfafsran & alid (D) 31ed Fmior
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Who has NOT propounded the trait theory of personality ?
(A) Paul Costa & Robert McCrae (B) Ramond Cattell

(C) Hans Eysenck (D) Gordon Allport
SAfaed %1 e firgra fore wfamiea 78 feran 2 2

(A) WSt T T TaE Aohsh (B) VS e

(C) &4 ITgei=h (D) TS e
Which personality test is valid for clinical diagnosis ?

(A) MMPI (B) 16PF

(C) EPPS (D) TAT

i A1 eAfericel SHIETT grieh e o ford du @ 7 m
(A) TR, (B) 169.1%. E’%ﬁ?
(C) gt frum. (D) dud

Which intelligence theory was proposed by Robert J. Sternberg ?

(A) Two factor theory (B) Multifactor theory
(C) Triarchic theory (D) Hierarchical theory
T 31, w1 gRI §fg 1 A 1 frgra sreanfera fefam a2

(A) fewres fagra (B) Ehieh frgrd
(C) Frzmam fagra (D) wergshin fagr

Which of the following i1s a performance test of intelligence ?
(A) Jalota General Intelligence test ~ (B) Bhatia Battery

(C)  Army Alpha test (D) Draw A Man test
= 9 v = W gfg = fFeafa wlem 2 ¢

(A) SITAeT AHT §fg wem (B) wifean deh

(C) 3T 37eT T (D) &1 U g

Which of the following concept is NOT true for the nature of individual differences ?

(A) Normal probability (B) Learning similarity

(C) Variability (D) Interrelationship of traits
e fafiara 1 wpfd = ford fre § 8 w1 ot sraymon s 78 2 2
(A) T TETedT (B) i Tma

(C) famermsfiem (D) SiTeRTo =1 STy
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10. Which measure is NOT relevant for the education of gifted children ?

(A) Enrichment of Curriculum (B) Remedial teaching
(C) Grade acceleration (D) Special classes
wfersraTeft et @ e % ford S w1 3 el T8 @ 7
(A) Ty F1 Tfg (B) ITINIEH FEATH
(C) #oft 3=ifa (D) fery swerrd
1. Which disorder 1s a type of learning disability ?
(A) Cretinism (B) ADHD
(C) Dyslexia (D) Autism
1 ot ferspfar arfermmm aremen 1 o SR 2 7
(A) wfefr=a (B) THT
(C) fewifagan (D) affesH
12.  Which element of maladjustment 1s specifically related to decision making ?
(A) Stress (B) Frustration
(C) Anxiety (D) Conflict
FHHTATSH 1 $H 91 a o9 &7 4 Fofa o @ Jraf-a 2 7
(A) (B) % E%?
(C) famm (D) 2% B

13.  According to J.P. Guilford, which is NOT the characteristic of creative children ?

(A) Empathy in thinking (B) Multiple solutions to a problem
(C) Flexibility in thinking (D) Originality in thinking
St e e & SR, o1 aToiehi o fersivd & <t 78 3 7
(A) o & garyfa (B) HHET o qgfaY I
(C) Foa 1 ofiem (D) T 1 difessan

14, Trisomy-21 is termed as
(A) Klinefelter’s syndrome (B) Sickle cell discase
(C) Turner’s syndrome (D) Down syndrome
STgdiHi-21 1 a1 ST 2
(A) FATETHe HAE (B) foees &t T
(C) TR EeIam (D) 1A FAF
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17.

18.

19.

(6) PL-2

Which of the following is NOT a part of Thorndike’s laws of learning ?

(A) Law of readiness (B) Law of association
(C) Law of exercise (D) Law of effect

e o & i T uieTses & dien & Tt e 71 2 2

(A) dcatar &1 fm (B) wrE &1 fam

(C) Frvamg o1 form (D) 9T T fem

Which of the following is a psychological factor influencing classroom learning ?
(A) Health, age and gender (B) Level of maturity

(C) Motivational and emotional state (D) Meaningfulness of the contents
e 1 8 6H 1 e ¥ HigH 1y i aTer TS FE 2 7

(A) TETE, IY TAH UL (B)  SrIAT 1 &R

(C) fisomeTe vay gemenss s (D) fowerawg &1 sreiyvian

Insight theory of learning was propounded by whom ?

(A) Wolfgang Kohler (B) Jerome Bruner

(C) Martin Seligman (D) Erik Erikson wE
A = gt fagr fepmeh gr wiamfea fevam mar o E%ﬁf
(A) FTEHIA RIEH (B) M R

(C) wiféa wfermm (D) Ufte TRehEd

Which is the tinal step of problem solving approach of learning ?

(A) Following logical sequence (B) Knowledge of concepts and principles
(C) Verification of performance (D) Demonstration of activity
ST 3 THET-THTYH ITATH 1 3| O i a1 7

(A) Tl H T ITER (B) Ead a1 et 1 7
(C) Frome =1 werH (D) forarfafis 1 wesh

Use of defense mechanisms as a strategy for adjustment was originally introduced by
whom ?

(A) Abraham Maslow (B) Sigmund Freud

(C) Carl Rogers (D) Jean Piaget

T % o U gfF % &1 wiieds i & 5 ) difer ®9 6 e g v
fepat T 1 7

(A) FSTEH Wl (B) fomve wrre

(C) et Tl (D) o forma
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20.

21.

22,

23.

(7)
Which of the following is an example of extrinsic motivation ?
(A) Need for achievement (B) Anxiety
(C) Level of aspiration (D) Reward
i & & 1 T wTy AR T IeEm R ¢
(A) IuAfed T Tervaehar (B) =
(C) TehIaT &R (D) TEHR

Which of the following 1s NOT a type of teaching according to stages of teaching ?

(A) Understanding stage (B) Demonstration stage
(C) Memory stage (D) Reflection stage
1 1 9 i a7 e & sl o IR W e 1 e AE 2 v

EZ0E
(A) Y TR (B) WA & Eﬁ
() wfawr (D) F =R

Which teaching-learning method was introduced by Dwight W. Allen ?

(A) Micro teaching (B) Team teaching

(C) Brain storming (D) Interactive teaching
TaTse T, Ue % g1 o o Reor-srfrmm fafty sega Y d ¢
(A) em frao (B) T fram

(C) wfeass fawa (D) a1=:feran faramon

Which are the three important components of motivational cycle ?
(A) Learning, reward and satisfaction

(B) Need, drive and incentive

(C) Motive, goal and feedback

(D) Achievement, approval and affiliation

AT F5h % A EE HeFH HA A 7

(A)  SHfermm, JeERR qur Hfe

(B) ATaRIHAT, TG AUl HedTe

(C) firsror, e ao yfagfe

(D) 37cfedy, STqHie qe Heiee
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24,

25.

26.

27.

(8) PL-2

Main objective of action research is

(A) Activity (B) Diagnostic
(C) Descriptive (D) Transformative
fparers sEYA FUgE ™ 2

(A) fomerfafy (B) i

(C) femromen= (D) FI=RHHI

Which of the following 1s NOT true for the construction of achievement test ?

(A) Reliability (B) Evaluation
(C) Validity (D) Objectivity
JreAfesy wie & fuin & o frm d e w w7 2 ¢ o
(A) feraerfra (B) HeAA o

(©) Aud (D) B

National Curriculum Framework was introduced in which year ?

(A) 2001 (B) 2005
(C) 2004 (D) 2008
TFH gl ST g o § yrarfed fran m ¢
(A) 2001 (B) 2005
(C) 2004 (D) 2008

Which assessment type is NOT related to teaching-learning process ?

(A) Achievement (B) Continuous
(C) Clinical (D) Remedial
AT 1 B 1 Seh Remr- sl whea & amfRm i 8 7
(A) ITeAfel (B) @ad

(C) e (D) S
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28.

29.

30.

9

Which coneept is NOT related to Jean Piaget’s Theory of Cognitive Development ?
(A) Schema (B) Acquisition
(C) Assimilation (D) Accommodation

S TRt o g faeem@ & fagr= @ SiF t sraumon awafe 72 2 ?
(A) whm (B) tfrmrEm

(C) FATHETHRY (D) S

Pair of genes that occupy a specific location on a particular chromosome and control the

same trait is termed as

(A) Karyotype (B) RNA
(C) Allele (D) Autosomes

Sfi=g =1 ST, S fae orgE W wes fafits wm siftnyfed st 2w wom o S Rafee
AL, FEAAE |

(A) TR (B) IMET, “ae

(C) Uefist (D) I

Which of the following is NOT a stage of psychosexual development propounded by

Sigmund Freud ?
(A) Phallic stage (B) Anal stage
(C) Oedipus complex stage (D) Latency stage

firmve W gr wiedTied T fawm &) see e g s d 7@ 8 7
(A) i sraen (B) T raw

(C) 3feTd SivIciad Jae (D) el FTeedT
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Qug - [
TN - |

=

39 QUE W FA 30 T B |
avt g e E |

freforfiga mem % MR W Yv T 31§ 35 T o I AT :

37 7 gt 4 g A IR @ 7 R A a A gl @ 2, T A e
ATFEF % § WH-GT T S G9a B T R - Sfeh T WH W g T R @al F1 S
SRR 35 R Ot ) o ST AT R | R fen 7 o | v 7 s 5 A foeh
AR B d 3R 4w & ot vl 0 oft 5 % a6 9 G S # | 39 9E Qv U d a6 -
AT % Y SFGIR @73 1 Tohd & | WER 2 IFEER 370 G T3 31 atg Tk i
# | 3t g U SrEER A 3" AR HET 3§ aur v @ 3 EE 2 | | o srEEn
f&mg 3 TEel AR 34 oI 1 AT R | @ == U 4R R ST e iR 3w foeed %
37 -7 forh AT TR 2P % Teria ¥ ST °n | 319 59 a1 gedmret o ot 7
FEERFEATE |

31. f@ﬁﬁ‘@’mwmﬁ%—
(A) IR (B) AR
(C) I=fiehd (D) FEe

32, fefafEa 8 & e =1 9 sgEm g
(A) T T U Bl ST ST &R | Q%g
(B) 7 3rEem A1 379 FaR w e § | =
(C) W&el 7% gl IueTey 78 ot |
(D) T 3rEaR fag gr el SR 38 oo 1 AT foban ST |

33, frefafaa d g a2

(A) Tl (B) et
(C) +H (D) =TTeN
M. T TS FI G e 3 T@iind 1 ageE dger W -
(A) ¥ THAS | (B) o9 T |
(C) 3 dohitehr | (D) &9 T |
35, fAaffgd a v o e v & 2
(A) ©H (B) @vd
(C) TR (D)
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36.

3.

38.

39.

40.

41.

42,

43.

44,

(11)
e’ e W B YR ¥R -

(A) Zd7 (B) e

(C) =red (D) ZmEu

‘TH g Teid &l |’ {gifehd TewY 1 Seelv 2 —

(A) fadmo (B) firan-fadrm

(C) &l (D) @™

S =g T 31 Fehe HH T GET B —

(A) TS T FE | (B) 34 1 gy T &1 T+ A |
(C) fem i v fewg & | (D) @I g SamE &l

TR I o B 2 | %1 31 ifireator s et 3fa st 2 -

(A) TR H ) TH SR | (B) Fhmedt § ayrer et |

(C) T Uit TR 118 1 7a] HLdl 2 |(D) T AR O AR |
‘STl <l UL Sa1atl || 9 9T U Y3F 9% ol #1 Fgd 8 ¢

(A) e o B) v

(€) 7 faa (D) qUifeH

ot 3 & wrepaeT, Tt AT 7R Fiepfa ecy™ i e fre faf @ o firen 2
(A) STeeA AT (B) o fonan

(C) fopvermés fafy (D) Wi Tgf

TeIfieh TR % YR T 3R ST B 939 B THY @ W 91 -
(A) i 1w fere 2t =z |

(B) hfgal Sfie7 d AHBma | EiE
(C) <hIereT %1 9T el &R & Tkl 8 | E]%?

(D) hferar semr s 8 femmor 78 Fdft 7 |

ferenefi @&l & ¥ forl o7R 38 orgd Hivd ¥ T fommg 2g simevas 2 -

(A) e fernefi forfd, vrsg SR area = <1 wrgfadl i g FE 2 |

(B) 3781 1A HiA W i yura =t S |

(C) Termedf < 919 FEYfd SHaRR TE1 o2 51 |

(D) e A 3fa S sae it sua i e |

fereameff # vaa et formfia F 2q @ s 2

(A) TEHIe § Hefid qedeh o+, T 3R i strewas A @ie 1 See i 9 |
(B) 31T ZI SISO 1 S 2T fear 7 |

(C) Teremeff srfg wreg, 3w 1 3heT 7 9T |

(D) e R I SR T2l fohar 9 |
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45.

46.

47.

48.

49.

50.

(12) PL-2

fraferfiaa # & mquman fe=ft freor i wwen 2

(A) e fafy i srasnfaman | (B) @i &l stferpar

(C) WREES! H1 3 (D) &=t s e it Forom TE 2 |
fre o = syror fveqwr wgfer of wraie Torm 2

(A) f (B) WFA-TES

(C) dH=E (D) #TeA

frafafad 4 9 v faw v =1 v fverr | 2 st 989 3§ foemem foemn § gaifires
I U 3 o e @ g

(A) e (B) cefiferm w0

(C) 3R g8 Teiaet (D) UihTE E;E‘-'?

w1 frer % gro fernfefai o st T a wtvet qen et s va srfgft & feaan
forerTer 3371 3, O ATTA IHFR T FH Z FH A G HA HHA A S ?

(A) FmEfd - ggh (B) Ty uftadq - fafsmem

(C) 3roqeed] - framm (D) WA 3R A9 GRT ST |19} 61 Sme

et 3requr =6 & | T <61 waifies yam 8 o 99 aeft fafr wram @ -
(A) Fremros (B) wdten fafy
(C) Irvrar vl (D) WIS

‘afe, feraneff FawrEsT @ w9 R &, wgd 1 i 396 = 3fg @1 @ 21, 7 Srmen @ 7en
uitacH 81 @1 2, a1 freferfiga framor sor gugm =tz

(A) TRt 3FEYH | (B) SUERIHS: f¥1eqm |
(C) TS TS AISHI H 31T | (D) ferarrera fmfor wfufy |

Fr=ferfiad mem & YR W YT F=A 51 ¥ 60 7 % I ST

“goft afe & wget 2 3R g F A HW A T2 | S FEH § g A1 gE Hi A

ST Bt B, T A B S 31 A & | A 6 T gL AZ § AN A} @ A g AT
T HE aR H1 97 Tkt wedT 2 | S WE 3 i Tehdl ] T8 A 89 3194 fomml i o
X % o w1 &1 wE oA # | 92 di 78 Diask wiftreafan 6 avd | o faflaa sfveafd % g
g 1w o fommil o shrergar 3t WTdi o STeRet WTNT 1 ST i | I[g Famfereh 3T vase fora
1 JITE i | % SR U gIe 2 o6 w9 Eiea o wgd @ R 3% | fore 7 urd | 3ee fore wee vee
Toreft sft forwar &4 wapmvTe @ Femam-wm ) e B 2 | TR 9@ Famas e g feem 3 afwes
21 ST 2, 9 5= % ket we2i 1 gATa foRe S B 3w & wen fora s 2 1
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51. @ifha ‘Hfeh g ww 3 -

(A) Fq9 (B) @M
(C) dfeetm (D) fasram
52 “FIERA 1 feim 2 -
(A) Sicepe (B) famafa
(C) fafza (D) ¥IgREH
53, ‘furaa o 1 wdl Wit -fo=ae B -
(A) fog + & (B) fom +a
() fA+m (D) Fr+
54, ‘wAfSreafed’ amafies e H awd fafza 2 -
(A) fgm (B) arerefivra
(C) &= (D) wEEilE
55. fafefamnaqama= 2. wem
(A) feum (B) ™R E%i‘
(C) 3HE™ (D) %7
56. ‘SR w7eg % W watgeTe B -
(A) HATEST, F0T, ITIHA (B) 3TERy, T, ST
(C) 3nfy, et amfere (D) 37T, U, T
57, feadastfigeaggm?:
(A) HiT (B) I
(C) i (D) dfte
58, ‘I fERi R e sE s e maer s wmuadd -\ Fad g
(A) HH-g7T (B) SuiHTET
(C) T (D) e
59, fafefaa g a i e 7 2
(A) 9 (B) wWYH
(C) UEE (D) |
60. ‘st % Ty R g ¥ R W ) el A g@ I v # FE AW o A A wsar g 1
TEifd ye2 2 -
(A) Sirferar=res g3 (B) 3Head
(C) e = (D) SAfFETH
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31.

32

33.

34.

36.

3.

38.

39.

40.

(14) PL-2

SECTION -1
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.
Choose the sentence which is correct in structure :
(A) How does the world tending to become a unity ?
(B) How is the world tending to become a unity ?
(C) How will the world tending to become a unity ?
(D) How did the world tending to become a unity ?

Choose the correct option to fill the blank i the sentence given below :

The wounded man by some boys.
(A) were being helped (B) are being helped
(C) was being helped (D)  will being helped

He said, “Be quiet and listen to my words’. Choose the correct option to complete indirect
speech of the above sentence using phrase given below :

He urged them
(A) be quict and listen to his words ~ (B)  to be quiet and listen to my words
(C) that be quiet and listen to his words (D) to be quiet and listen to his words

Choose the nasal’s sounds :

(A) |m,n,n (B |Lp.t|

(© w7 (D) 16,0,/ %ﬁ
Choose the correct phonetie transcription for the word ‘Kimberlite” : e
(A) [‘Kimablart (B) |'Kimboalart|

(CO) |'Kimbarlart| (D) |'Kimbalait]

Grouping and sequence are involved in the principles of

(A) Habit formation (B) Follow the natural way

(C) Controlled vocabulary (D) Gradation

The teaching material should be in accordance with the mental age and should have
relevance in real life situations. It is main characteristic of :

(A) Principles of Selection (B) Principles of Habit formation

(C) Principles of Gradation (D) Principles of Controlled vocabulary
In which method Mother tongue dominates in the teaching of English ?

(A) Direct method (B) Dr. Michael West’s New method
(C) Translation cum Grammar method (D)  Audio-Visual method

Dr. Michael West’s New Method is based on the principle :

(A) Prionity of reading, separate provision for readers

(B) Priority of writing, speaking

(C) Priority of speaking, writing

(D) Priority of writing, separate provision for writers

Which one of these is not related to the Direct Method of teaching English ?

(A) 1t is Natural Method also.

(B) It 1s Mother’s Method also.

(C) It was approved and spread by International Phonetic Association of France.
(D) This method consider visual appeal over aural — oral.
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41, Which type of reading is also known as rapid reading or independent silent reading ?

(A) Extensive reading (B) Intensive reading
(C) Library reading (D) Loud reading
42.  Which one of these 1s not the method of teaching writing ?
(A) Tracing method (B) Free imitation method
(C) Intensive writing method (D) F.G. French's method
43. Reproduction technique, Role play and Performance are the main techniques for .
(A) Reading skill (B)  Writing skill
(C) Speaking skill (D) Listening and understanding skills
44. The speaking and listening skills are developed by using :
(A) Flannel Boards (B) Pictures
(C) Film strips (D) Record-player
45, Language laboratory 1s a very popular technical innovation. It is derived from :
(A) United Kingdom (B) America
(C) France (D) Germany
46.  Which one of these 1s not a Quantitative Techniques of Evaluation ?
(A) Oral Techniques (B) Observation Techniques
(C) Practical Techniques (D) Written Techniques
47. The technique of evaluation that includes certain statements of Yes and No type is :
(A) Check hist (B) Observation techniques
(C) Rating scale (D) Anecdotal records

48.  Which one of these is not a function of CCE ?
(A) Children can know their strengths and weaknesses. 0]
(B) It provides the child a realistic self-assessment. EY.
(C) It does not help teacher to organise effective teaching strategies.
(D) It helps in identifying changes in attitudes and value systems.

49. One of these is a feature of formative assessment :
(A) Itis an assessment of learning.
(B) 1Itis adiagnostic and remedial.
(C) It is the most traditional way of evaluating students’ work.
(D) Itis generally taken by students at the end of a unit.

50. Functions of evaluation are :
(A) Diagnosis, motivation (B) Diagnosis, prediction
(C) Motivation, understanding (D) Teaching, learmning

Read the passage and answer the questions (Q. Nos. 51 to 55) that follow :

Why do people get stressed ? Adolescents are faced with the demands of their
developmental task and that of a complex society. They need to acquire skills of adjustment
to emerge into adulthood unaffected by these demands. If they lack these skills or if too
many demands are made on them, they fail. Students are anxious, as they are worried about
whether they would be able to live up to the expectations of their peers, parents and teachers.
Optimal anxiety motivates and keeps them ahead while over-anxiety is disabling.

Anxiety 1s contagious and passes onto other students, teachers and parents. Adolescents,
when stressed out, tend to perceive everything as an emergency.
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exigency
exemplary

decimal
imaginable

motivation
paternal

developing
development
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Choose one word for “a disease spread by direct or indirect contact of people or organism’:

stress disease

(16)
Choose the Synonym for the word ‘emergency’ :
(A) exogamy (B)
(C)  exequy (D)
Choose the Antonym for the word ‘optimal’ :
(A) enamel (B)
(C) unideal (D)
Choose the misspelt word :
(A) percepsion (B)
(C) complexion (D)
Noun for the word “developmental” will be :
(A) develop (B)
(C) developed (D)
(A) complexity discase (B)
(C) contagious disease (D)

Read the passage and answer the questions (Q. Nos. 56 to 60) that follow :

fever disease

Education as commonly understood by people means acquiring certain knowledge
and skills in order to earn their living. But that is only one purpose of education. You may
ask why ? This is because humans are much more than just wage-earming machines. They
are endowed with emotions and feelings which enrich their life. These emotions and
feelings need to be developed so that they can develop into social beings, able to interact

with fellow beings who are also members of that society of which they are a part.

........ in order to earn their living. Here living is :

an adverb
a verb

earning — machines

(A) anoun (B)
(C) anadjective (D)
Choose compound adjective from the phrase “‘wage-earning machines’.
(A) wage (B)
(C) machines (D)

wage — earning

Which of the following phrases has a determiner in it ?

(A) acquiring knowledge (B)
(C) humans are much more than

They are endowed
(D) You may ask why ?

‘Education as commonly understood by people means acquiring certain knowledge and

skills in order to earn their living.
Which tense is used in the above sentence ?
(A) Present indefinite (B)
(C) Past perfect

Which of the following has the three degrees of the adjective in their correct form ?

(A) common, more common, most common
(B) common, commoner, commonest

(C) common, commaoner, commoniest

(D) common, commoneer, commoniest
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SECTION - 111
LANGUAGE - 11
ENGLISH
There are 30 questions in all n this Section.
All questions are compulsory.

Choose the correct modal auxiliary to fill the blank :

You improve your spelling. (necessity / obligation)
(A) should (B) must
(C) can (D) might

What’s the good of entering into negotiations with “a man of straw” ? Here “a man of straw’
means :

(A) aman of no substance or consequence.(B)  a man who 1s made of straw.

(C) aman who 1s light in weight. (D) aman who strays here and there,

A poem that has 14 lines, each usually containing 10 syllables, and a fixed pattern of rhyme
is known as :

(A) An Elegy (B) Limerick

(C)y Ode (D) Sonnet

On the approach of a policeman the bully *showed a clean pair of heels’. Here ‘showed a
clean pair of heels’ means :

(A) ready to clarify (B) he showed his shoes
(C) ranaway (D) walked away
Which one of these does not belong to an elegy ?

(A) asadpoem (B) mourning poem

(C) emotional poem (D) ajoyful poem
Choose the bilabial consonants :

(A) [pb] (B) |td S
(©) [tJ] D) |kg B2
Which is lateral consonant ?

(A) [m]| (B) |1

(C©) [n] D)y 1wl

The symbol of underlined letters in the word ‘Ship” is :

(A) Sh B) S

€ J (D) ©

Phonetic transcription for the word ‘jute’ is :

(A) |[oOwt| (B) | dsu:t|

(C) [juit] (D) [zut]

Phonetic transcription for the word ‘wreathe’ is :

(A) |ri0| (B) | wri:th

(C) | wrid | (D) |reoth|

“Important principles may and must be flexible.” Who quoted this ?
(A) Woods (B) Washington

(C) William Weak (D) Whitestone
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Natural order of learning a language 1s :

(A) speaking, listening, writing and reading.

(B) listening, writing, speaking and reading.

(C) listening, speaking, reading and writing.

(D) speaking, listening, reading and writing.

Which one of these 1s not an element of communicative approach ?

(A) Communicative approach is practical in use.

(B) It develops the speech ability.

(C) 1tis not practical in use.

(D) It lays stress on the functional value of the language.

Which is the latest application of teaching language ?

(A) Structural approach (B) Communicative approach
(C) Project approach (D) Inductive - Deductive approach

Choose one of these which is not a remedy to resolve the challenges of teaching English :

(A) Provide certified and qualified teachers. (B)  Building Rapport

(C) Building Confidence (D) Use only one method of teaching.

Which one of these is not an advantage of online remedial education ?

(A) Gives a sense of isolation to the learner.

(B) Elimination of barriers of time and space.

(C) Itis cost-effective.

(D) The instruction pace 1s flexible.

Which one of these is a disadvantage of online remedial education ?

(A) Itis casy for the student to navigate information.

(B) No technical support from the instructor.

(C) A well designed online course makes it casy.

(D) None Ei:E

Continuous evaluation is basically : E

(A) formative in nature and is school based.

(B) summative in nature and is school based.

(C) formative in nature and teacher based.

(D) summative in nature and teacher based.

Which one of these 1s not a merit of Group Evaluation ?

(A) Different learning styles cannot be evaluated.

(B) Students learn in cooperative manner as they help one another in a group.

(C) A healthy competition in a group motivates them to learn.

(D) None

Summative evaluations :

(A) Provide the information on improving a product or a process.

(B) Provide information of short term effectiveness or long term impact for deciding the
adoption of a product or process.

(C) Provide information about teachers and what they teach in the classes.

(D) None

Read the following passage and answer the questions(Q. Nos. 81-85) :

Lack of control by parents is also harmful. If parents do not impose any constraints on the

adolescents, then they have a tendency to go astray and choose the wrong path, and later

become difficult to discipline. Such adolescents feel let down and think that nobody cares for

them. Hence some discipline from parents is necessary.
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81, ° " may be an appropriate title for the given extract.
(A) Discipline (B) Adolescence
(C) Lack of control (D) Tendency to go astray

82.  Fill in the blanks with appropriate linking devices which are given below (for Q. Nos. 82-83) :

_ adolescents their friends feel let down and think that nobody cares for them.
(A) Both-and (B) As-as
(C) So-and (D) Though - and

83. They have a tendency  fo go astray to choose the wrong path. (According to
the passage)
(A) neither - nor (B) either-or
(C) not only - but also (D) so-as

84. Adolescent as well as his friends Jet down and think that nobody cares for them.
Choose the appropriate verb to fill the blank in the above sentence :
(A) feel (B) feels
(C) s feel (D) will be feel

85. If a Guardian not impose any constraints on the adolescents, then they have a

tendency to go astray.

Choose the correct option to fill the blank :

(A) have (B) are

(C) do (D) does

Read the following stanza and answer the questions (Q. Nos. 86-87) :

‘Give me a flower delicious as the rose
And stately as the lily in her pride’ —

But of what colour ?” — ‘Rose-red’, Love first chose, oPi0|
Then prayed - *No, lily — white - or, *both provide;’ &%ﬁf
86. Choose the correct rhyme scheme in the above stanza :
(A) aabb (B) abab
(C) abba (D) abcd
87. ‘Give me a flower delicious as the rose ........ " Which figure of speech is used in this line ?
(A) Metaphor (B) Assonance
(C) Epithet (D) Simile

88. Richard was a lion in the fight.
Which literary device i1s used in the above line ?
(A) Simile (B) Metaphor
(C) Personification (D) Alliteration

89. Choose the correct figure of speech in the lines given below :
Pride goeth forth on horseback, grand and gay,
But cometh back on foot, and begs its way.
(A) Personification (B) Simile
(C) Metaphor (D) None

»

90. “Betty Botter bought some butter ...........
Which figure of speech used in the above line ?
(A) Simule (B) Personification
(C) Alliteration (D) Metaphor
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WS MTHES Ue W3 MY fide" I8 | e & He™i =9 fagfogmg wr faprr g | o &9
H&3'5 IfgE a9d B gafendt 3 fegar d foprr 1| widdt mirgfaasT way < 9w &1 et | fedas
Or et Fany v famr 3, 7 i T 9195 9397 T | HEY 3279 8H o aFT 9997 J | EFE gaeT § fa
&r §rg fegst mifimret 3 fears fagreer ua3g feo Eer efou ez Jor J |

81. oW HEY T A AHSTE e O :
(A) T8, Wells (B) g3t gowr
(C) 3o, fee™ (D) f&37, 39w

82. ‘TH HYC T HHIGS HIC 341 4
(A) Wz (B) 3=
(C) Ut (D) =

83. foug weeufdard :

(A) ofdr (B) »mw
(C) &9 (D) fa3s
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84.

85.

(60)
WHEs T fedtt mae I

(A) aHEL (B)
(C) Um (D)
WAI3d BT o S 7aae J

(A) Ha3 (B)
(C) Z3T (D)

PL-2

LEE)
is

S

35 fgu Frfe-de & g, TS 599 86 390 33 ¥ 39 e

86.

87.

88.

89.

90.

A3 575 yarfen it U wfararae I 1|
A6 afq maw feafenm 39 3 #itg ydn ||
i ga frgaredt gat wrie & Wifa o 1|

frd g g ufg yam nrA grufs o 1|

o wimAfe Afg 78 d a76d Wfe H3 | |1
wfg wig »iefs ToHAs 3= dta3s mer fammm 1)
9 379 919 917 36 dfs fymt rem w14
JIHY &S <9 yFae o 11

Gazg afe-ge oot J :

(A) el gaeH (B)
(C) gwRIAs=Ht (D)
ez arfe-dewrafe-gud:

(A) eyt (B)
(C) =9 (D)
UBHT HIE I 9EJ ;

(A) ufenr (B)
(C) uSfnm (D)
SR afe-de e nizdid e guy:

(A) HIHT IF& (B)
(C) &I TRH T ASH I (D)

e -He MEHTT g 3769 <2 Al & AGH Jfem

(A) Ai3garfse
(©) Fuafd

(B)
(D)

B

Irigmrt a7 fguer
J&J TTEd ERE

e

CrSCINES)
YT T 729
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61.

62.

63.

64.

63.

66.

67.

68.

(61)

w$ — I
GUNL - 11
dorRicll
AL VSHL 6 30 UL S.
€35 WAL el 204l 82l 5.

‘A 2R 530 Al URS ABURUALSE 8 7

(A)  dHRERl Qe 2z . (B) el aaizn HEe R0 54

(C) R ) 521l (D) ¥ [zl 2% sl
U YF UL AR 5 [t RIS ¢

(A) yellErm (B) eyl

(C) widlaz (D) 2HedREL Rt

Al M 206 5316 9

(A) swedl (B) slvm

(C) $dH (D) M8

dad, [, [EoLs S0 eaidl 5raR WM A2l dal e o séa ?

(A) [Qeime (B) [

(C) < (D) 2ty B
Al 2perzid]l UidHl 2108 54l 6 9 W
(A) MRRL (B) ={A$

(C) e (D) s

Al v g el @Bl

(A) [@euelA sau Slueudl diel Wi s,

(B) [zualliil aednil gz a 6.

() [anlxdl sedriel [su s,

(D) [aelRAtl diafd au 8.

AZ2Al530 gl AF0 oA HIZ 2 AR 6 9

(A) AR (B) [dds

(C) 5lsly (D) elzer

LA (A0 g 12 A{RiAL 58 Alotd 1Rl S ¢

(A) dQarlE<lugls. (B) o Eizsssl ugla s,

(C)  d Riets-(aauel 3wl 8. (D) o 2= vgld .

https.//www.pygonline.com


https://www.pyqonline.com/

69.

70.

7.

72.

73.

74.

76.

T7.

(62) PL-2

o401 HIMHIMIA [RLa191 56 izl Ui sl 232 53 6 9
(A) (g (B)  e{eRal
(C) Balrizal (D) cRLuRAL

secL 2 Al sou s ¢
(A) oe-l (B) sl
(C) seurl (D) Hll

A0 (et Bzl Bl Aol ptqmdl 2o 5% 65, dl 2 st ¢

(A) Gl (Ml (B) Hmdiu
(C)  Rld-icns 24[eieu(d (D) s Al

= "

ARl 5 Blaied AEHLUAH 5H [EAs 6 9
(A) ALl (B) <l
(C) e (D) %u-

ALl (EetiAlmiel 53 [t 20z 6 9
(A)  {ldust A e 4L 5. (B) 2(&5lt 2 g2~ 21 UM 5.
(C)  uUalEEeL 2 e L 6. (D) U&dRels A ERLUMA S,

215 (2515 PDASHLGRAER el 2UloYA 5 6. ol el
(A)  CLOSHL EAA Slaleudl [Asiad 2l

(B)  llsiHL Al (Gl (s ual. —
(C)  GLOSTHL¥S L sl 2l Eﬁ@
(D) GUOSLA URLEIMT MR Ll AL

AlzbAridl 58 ollod 4= S ¢

(A) ML Yrasell ol def wildls deos.
(B)  HIRUNL YRelslL 51101 a5l Sl g,

(C)  Ulseis™ vol Bkl &Il .

(D) gsH [Azueflolirl ausau otz Sldl o,

At HeAls W2 Gupdldll AU 53 55 ¢

(A) G [ (B) l&{ets

(C) [siubst (D) M HIMES
AlAH 2AcHEL WAL USIR SULES 9

(A) HUlBd Gz usR (B) [Hoid usz

(C) egliseu sz (D) 1A Bz UsR
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78, WUliAs 520121 12 SUL UldetAL GullaL L 6 ¢
(A)  ARUCYsAL Rl (B) As(@zz-l
(C) Uyl (D) [F&lztaAl

79, Alirtuiall AU HelsA HE 53 [l U S ¢
(A) M HEUl5 AL 2Ad el 5.
(B)  Acel Y-l [lerall-l Aotoud €3 3L usia
(C)  Add Heuls A [Qza ugld 5.
(D) o 2G5 U 5.

80.  WeLastAl 2L s3cll i ARl 56 ot B el g
(A) dopll, [rarq oA WAUsR  (B)  [dNueRd, RS 2t W8
(€)  [Rzuadl, wsariaes vid o0l (D) Mszels, AR Bt U USR

AL 2ALLEL ELLIAL AR USA5HIS 81 20 831 o¥ellod 240l :

AU MOR 6 “AHEL AL 212 7 % 2L 2UHE 2RA S A 0L d Ad-EL 2L BARL A
el Aol 20l 2B 531 45 il 8. 283 YR gt WA-ULEL Al el Glal-{lu
uelsl. suls ellalazlainl g veal Haldl 4HaL s Ald; sis Elsdl-gadl 212@ DA kel ueL 58
£9; el ©12el 56-UZL SIS 21 i ol 2 B A s USlou 2 ElR AR Ad . 2l UM €L !
ACYR WA 48 5. Ul AR Bl 6. wélul sRMULAL SRl 1gsL 9Al 2lld déd]

uelle. UlEAL it AsUEeRAL ot o W 2

81.  ‘HEL Qosl 2 LUl
(A)  AlE MR (B) el AR
(C) 485 M-I (D) 2lldndl 2AMAR

82. el AL AlsUESR sl Mo 5uL AN UL 9
(A)  &lscll 5ol A€l MaLeH (B)  AIRAMGIHL WS5L =22l lid Ul
(C)  AHEIAL EHAL UALeHL (D) gl A WAL

83.  GURIscLaLellaHl A Al s ARG S 7
(A) M&lsld (B) gl
(C) Hall, (D) AR
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(64)

ALZL ALLEL MEULAL AR UPHSHIS 84 e 85 orellol AL ;

84.

86.

87.

88.

89.

90.

514 5% & M)l 2 WEH ! @i
5 5% 8 Md, Eﬁ
AASL HIZLHES 2AMELL
oled ol 5852l 7 2 HIEH,
AR Wl 531 A Al
Olell 3 ABRAL AR 5
HDL S B Y Hibrd HAURL,
LAl HOLWHIR, 3 HIE™,
oAlasiAlL 2 2L gL cleatd
AR &l & AR, % HIEH,
Gl MElal] dl Al o A
Als 0L A vsrR 516 2 ;
50L0L GUR 5% 531 A
e 04l AL218 Gl 2 Wierd.
206 L AMGL R g Hbllal s ¢
(A) Hérd DR WA (B) MU Gl el dlsl.
(C)  URUR] Hdrd v, (D) A 5010 Gy 51,

{52 56 3 cgel usi 7
(A) VR HoESs Ws4 Bedig st (B) ALl AR ol
(C) A€l Az el 571, (D) estdint ¢ld ur 2Ll

A2 et [imiall s A [ 546 d il
(A) 25eU%) del WEH Vg 2udl, (B) a@ilZldl (Rews.

(C) i gacts 2l el e ¢ (D) 3R 2Rl 2dadl dl il 2l

Al 53 (e 1y

(A) ‘i AR 2lAHL 2 8. Atz tus(Eaml 2.,

(B)  £ul, Wu, well, el 433 AsiAl Gldels 6.

(C) 0Bl AoEUHS LU G AHIA Al 51 SRl We [l 58 6.
(D) A% UAHAL 22l LHIRL 53R e [l 58 5.

“[eietallAl HetAHLzH 6. sl BauEeel MR sl

(A) UHuAAS (B)  Scalis

(C)  RUCERS (D) Rldds

“HAHAARIIL 2 541 96, GlAREL 65 ¢ .

(A) [avizell (B) Helsledl

(C) AL (D) =@ul

AlRAMR] 53 [Arui By iesizA 6 7

(A)  ewclld Wi ds ¥ Yer . (B)  ewell Wius Yer .

(€) [RR12 2 vigell c2lal. (D) sHelad 26l sl dUE R
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SECTION-IV /@Ug - [V

In this Section, there are 2 sub-sections 1.e. IV(a) Mathematics and Science and

IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

T8 @vE ¥ ¢ ITEE HYUid [V (a) MU Fun fa@m @ 1V(b) Avnfaes semem & | gl Swavel &
e H 60 Fgfahedia v £ |
witereff &1 1V (a) nifvra aen fasm sian [V(b) amrfes steaam, S 999 SiAers Aree-ma 1
fopar 3, o & foneft wen Sw@ve 1 g1 2 vd weft 60 ST B SRR | L
SECTION-IV (a) / ©UE — 1V (a)
MATHEMATICS AND SCIENCE / Tiord aen fasme

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

T8 EvE 1 %t 60 v 3 | T srarfia 3 gu o 1w forn 2 52wt oo v e 2

3 . 3 : .
91. If 77 part of a pipe is in mud, 3 part in water and remaining 5 metre above the water

10
surface, then the length of the pipe will be :
(A) 15m (B) 60m
(C) 30m (D) 50m

aﬁwmwf—owﬁa@ﬁ,%mﬂwﬁﬁaﬁnﬁﬂStﬁamﬁ*ﬁaﬂa@m@r,ﬁmﬁq
ﬁﬁﬁﬁ@rﬂ

(A) 15TiX (B) 60 diX

(C) 30 (D) 50X

92. The present population of a town is 5000. If there is a decrease of 10% in the population
every year, then the population after 2 years will be :

(A) 4500 (B) 4050

(C) 4000 (D) 3500

T TR T TIHE IR 5000 2 | 3 SEe ° ufdas 10% 6 FH q, 2 a9 9 i
FEE gt

(A) 4500 (B) 4050

(C) 4000 (D) 3500
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93.

04,

9s.

96.

97.

(66)

What should be added to each term of the ratio 16 : 25 so that the ratio becomes 2 : 3 ?

(A) 3 (B) 1
(€ 2 (D) 4
I 16 : 25 % edeh v H 1 <1 A1 foh 92 3o 2: 3 & 9 7
(A) 3 (B) 1
(C€) 2 (D) 4

A quadrilateral whose four sides and angles are equal to each other is known as

(A) Square (B) Rectangle

(C) Rhombus (D) Parallelogram

(A) T (B) 3@

(ORELECCE (D) WHT TG

The ratio of the length of the side of a square and its diagonal is gﬁ

(A) 3:42 (B) 1:42
(C) 2:2 D) 2:1

ot 1 S U 3T Topvl 6 AR T I 2 -

(A) 3:42 (B) 1:472

€y 2 :2 (D) 2 :1

The sum of two sides of a triangle with the third side s

(A) greater (B) small

(C) equal (D) None of these
o g 61 21 ST 81 9 vt @ B R

(A) w (B) @

(C) == (D) &7 U HIE

PL-2

The volume of a cuboid is 440 ¢cm* and the area of its base is 88 cm?, then the height of

the cuboid will be

(A) 3cm (B) 25c¢m

(C) 6cem (D) Sem

Teh EFTH o1 T 440 B T 8 31 38k TR F1 &% 88 a7 THT 2, 1 5T <hi Serg
2 .

(A) 3Tt (B) 2.5ad

(C) 6 (D) S @
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98.

99.

100.

101.

102,

(67)
The number of diagonals in a cube is
(A) 2 (B) 4
(C) 5 (D) 6
U U4 1 fererort sht o 21 2 -
(A) 2 (B) 4
(C) 5 (D) 6

If the height of a cylinder is 11 ¢cm and the curved surface area is 968 cm?, then the radius
of the cylinder will be

(A) 10cm (B) 1lcm

(C) l4cm (D) 8cm

afe u a1 g 11 9ft 3R 95 I53 1 e 968  wft &, at e i e At
(A) 10 (B) 11 T

(C) 14 it (D) § Bt

The arrangement of presenting the data in columns and rows in a sequential form is called
(A) Classification (B) Tabulation

(C) Presentation (D) Analysis

THE! 1 @I q4T T § G F H A H i T FEAN! 1

(A) arffeRtor (B) @RUfEa

i} OPAD)
(C) S (D) fawerym %%

Which of the following is not a source of secondary data ?

(A) Magazines (B) Official report

(C) Seif survey (D) Data stored on the internet
e 1 g & wr fedftaes o oftor safeRel s | TE 2 7

(A) RERE (B) HHRT Wieeed

(C) safF g @ o man (D) e W aufRd 31

With the observation of frequency polygon, which of the following can be found out ?

(A) Mode (B) Median

(C) Mean (D) Standard deviation
AT TG b eIt § frfolad #§ @ @ 3 fhan s wwan 2 2
(A) wgcTh (B) wTfEa

(C) T (D) wH fegeH

https.//www.pygonline.com


https://www.pyqonline.com/

A

103.

104.

106.

(68) PL-2

When two dice are tossed simultancously, the probability that the sum of the numbers
appearing on both the dice is 8 will be

1 1
(A) ¢ (B) 35
5 7
(€©) 3¢ (D) 3¢

21 TG BT Uk T IWTE TR T T 3T JTeft TEa 1 3 8 BN Y urfrar 2 -
] ]

(A % (B) 3¢

1 i .

©) 34 D) 34 [E4E
%,

The knowledge of Mathematics 1s

(A) Exact (B) Logical

(C) Systematic (D) All of these

TfOrg 1 FH BT R -

(A) Fud (B) aifsh

(C) wusg (D) Tzt

. “Mathematics s the giving of same name to different things.” This statement is said by

(A) Henry Poincare (B) Roser Banken
(C) Berthlot (D) Benzamin Peirce
“Fafirm aeqart 1 v T e & i 2 17 97 FuA fohe et ¢
(A) & TIget (B) TR a4

(C) wdaie (D) s frad

Which of the following statements is not related to the reason for giving special place to
Mathematics in the curriculum ?

(A) Mathematics is an exact Science.

(B) Mathematics generates logical attitude in children.

(C) Mathematics 1s not for ordinary people.

(D) The language of Mathematics is universal.

71 1 9 1 w1 YA i i sk A IR WM < & w8 weiid T @ 2
(A) 7o wek gee s 2 |

(B) TIfTel sl & afehek gfecahioT e e 2 |

(C)  ftrd T @ % foru i 2 |

(D) 7T et e FrEf A 2 |
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107.

108.

109.

110.

111.

(69)

Mathematics teaching is useful :

(A) Insocial development (B) In practical life

(C) Inintellectual development (D) Inall of these

mifore fareror o) g 2

(A) wmTfaeh foery | (B) oHEEIie e o

(C) g fompra (D) wadld

The word “curriculum” is originated from

(A) Latin language (B) French language

(C) German language (D) None of these
g’ (W) v H s g 2 -

(A) W H (B) g aTHr ¥

(C) S E (D) ¥ Y
‘William Kilpatrick’ is the founder of which method of teaching mathematics ?
(A) Lecture method (B) Demonstration method
(C) Project method (D)  Analytical method
“faferam fererifess’ nfora faver <6t foper wgfa < weemus 2 2

(A) =med fafy (B) e fafd

(C) v farfts (D) Taveifyes fafy

Which teaching method follows the principles of ‘Learning by doing’ and ‘Learning by
observation” ?

(A) Inductive method (B) Laboratory method

(C) Deductive method (D) None of these

e fararn faftr & ek e’ o “sraeiie g e fagra <t e 2t 2 7
(A) 3t fafe (B) wanarer fafy

(C) fom farfe (D) T & HIE T

Characteristics of a good test is

(A) Validity (B) Objectivity
(C) Reliability (D) All of these
U 3= Trery i faomen 2 -

(A) A5y (B) agfsad
(C) Tovag-aal (D) 98wt
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112. In which type of teaching “The main purpose is the development of effective techniques
tor the correction of error in all types of learning”™ ?

(A) Diagnostic (B) Remedial

(C) Achievement (D) None of these

forer wepm % freror o “saferme waeft et =1 yig 0 & Tor womarett faften =7 faeema e
0ed 3T B 8 7

(A) Frgpc (B) STHRICH

(C) IveAfey (D) THHH HIE TE

113. In the teaching and learning of mathematics, the use of teaching aids helps in ;

(A) Making teaching joyful. (B) Making contents interesting.
(C) Maintaining class discipline. (D) All of these

vra fregon 3 stfepm # freron AgTes gTeah wERdr i @ -

(A) Tovegor 1 Tk T | (B) fowa-aq =l Hieh S A |

(C) & H IIH TR WA F | (D) Faftd

114. Thcvalucof(l X l] X l 1s
2 3 4

oPA0
(A) -576 (B) 576 ~Ep
(C) 144 (D) 288
AN A
— x| — x| — hIHH = -
3 A5 )
(A) 576 (B) 576
(C) 144 (D) 288

115. The sum of two numbers is 15. If the sum of their reciprocals is 10° then the larger number 1s

(A) 15 (B) 20
(C) 10 (D) 25

) . . 3 :
amaﬂaﬂaﬁmsémﬁmqa@maﬁﬂﬁﬁ,aﬁ@m%:
(A) 15 (B) 20
(C) 10 (D) 25
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116.

117,

118.

119.

120.

(1)
Which of the following is correct ?
(A) Dividend = Divisor * Quotient + Remainder
(B) Dividend = Divisor + Quotient x Remainder
(C) Divisor = Dividend * Quotient + Remainder
(D) Remainder = Dividend x Divisor + Quotient
fredduda:
(A) WTST =Y9sh x YIThA + T9%e (B) HTS9 = SIS0 + WThel x I9H
(C) T = 9TST x UTTHA + ATFA (D)  ATHeA = U5 x WIS + HIThe

The value of \/176 + \[2401 is

(A) 49 (B) 6.08
(C) 25 (D) 15
V176 +42401 FIAEZ :

(A) 49 (B) 6.08
(C) 25 (D) 15 Exm
If 27~ D = (243)}, then the value of x is

(A) 3 (B) 4
) 2 (D) 5
afg 2737 D = (243 &, A FIHHAR -

(A) 3 (B) 4
(C) 2 (D) 5

If the simple interest on ¥ 600 for 4 years and the simple interest on T 600 for 2 years
together amounts to T 180, then the rate of interest will be :

(A) 4% (B) 5%

(C) 5.5% (D) 6%

3fe T 600 %1 4 T T AR S 3T 600 FH1 2 ¥ HT AR =TS AT Fed T 180 2,
(A) 4% B) 5%

(€) 5.5% (D) 6%

If the side of a square 1s increased by 50%, then by what percent will its area increase ?

(A) 75% (B) 100%
(C) 125% (D) 150%
e ot v <60 ST Y 0% Tt R R, ) v St o e 1 97 8 w7
(A) 75% (B) 100%
(C) 125% (D) 150%
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122,

123.

124.

(72)

Which of the following is not correct for ‘evaluation’ ?

(A) Itis an integral part of teaching process.

(B) It is more objective, reliable & valid.

(C) ltsarea is limited.

(D) Diagnostic and remedial teaching is possible through this.
frerfera @ @ ‘goars o foru 1 w1 o) e i 2

(A) T Freon wfshan o 3ifi= sm R |

(B) 7 31 a3, favemfig i au g |

(C) Ta & HHa 2 |

(D) Seh g1 feHTeR aem ST g gnE 2 | gﬁ

Example of thermoplastic among the following is

(A) Bakelite (B) Melamine

(C) Polythene (D) Urea-formaldehyde resin
feferRaa o & efeniees #1 sew 2 -

(A) deherTse (B) TemTsd

(C) e (D) fen-wiifeeane Fim
Monoatomic molecule among the following is

(A) Argon (B) Hydrogen

(C) Oxygen (D) Ozone
frforfiaa o & wehw 1 8 -

(A) s (B) EESH

(C) HATaieH (D) A=A

Chemical formula of magnesium phosphate is

(A) MgPO, (B) Mg,(PO,),
(C) Mg, (PO,), (D) Mg(PO,),
Arfiirem i 1 TR 97 8 —

(A) MgPO, (B) Mg,(PO,),
(C) Mg,(POy), (D) Mg(PO,),
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125.

126.

127.

128.

129,

(73)

The process used to separate grain from stalks is

(A) Hand picking (B) Threshing
(C) Sublimation (D) Sieving

@ N 6 T A ST~RT BT T i H T RIS —
(A) BT (B) e

(C) FHEETH (D) =TeH

Natural indicator among the following is

(A) Litmus (B) Phenolphthalein

(C) Methyl orange (D) Methyl red
Freaferfian & & sToieh T 2 —

(A) feremm (B) frafamaifem

(C) #fye FATia (D) A e
Inexhaustible natural resource among the following is

(A) Forest (B) Coal

(C) Natural gas (D)  Sunlight

freferfian o & ser ST wHYE 2 -

(4) = (B) 5
(C) STHfae A4 (D) T FI TE Rt
Example of co-curricular activity in Science teaching is

(A) Chart (B) Model

(C) Bulletin board (D) Science club

fergr fareqm & wrga wgeht fopan =1 Sere B -

(A) =T (B) wiee

(C) Felfeasre (D) o 7ot

Which class of plants 1s called *Amphibians of the plant kingdom™ 7
(A) Pteridophyta (B) Gymmosperms

(C) Bryophytes (D) Angiosperms

fopat =t < ol 61 “uTed ST % IR HE IR 7

(A) e (B) oo
(C) ST (D) afsrrerd
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131.

132.

133.

134,

(74) PL-2

Which of the following is a non — infectious disease 7

(A) AIDS (B) Cancer

(C) Corona (D) Common cold
F 3 3 s e AT

(A) TH (B) W

(C) A (D) T M

In which stage of cell division synaptonemal complex is formed ?
(A) Prophasel (B) Prophase Il

(C) Prophase (D) None of these

FifyeR fasrem # fiifmet ity &1 fmm e @ sewen g g 2 2

(A) TaTaE | (B) ateT I
(C) e (D) 7 &K T

Fossil fuels are

(A) Renewable source of energy (B) Non-renewable source of energy
(C) Both(A)and (B) (D) None of these

Sftarerdt o 2

(A) F I Tt €@ (B) oIl o1 s tsUia @

(C) (A)d (B)gHI (D) 98 A w18 TE

Ganga Action Plan — Phase [ was launched in

(A) 1987 (B) 1985 %%%
(C) 1989 (D) 1984
T T GREISHET - =0 [T S 37

(A) 1987H (B) 19857

(C) 19891 (D) 19841

Which bacterium causes gonorrhoea disease ?

(A)  Mvcobacterium tuberculosis (B) Corynebacterium diphtheriae
(C)  Mycobacterium leprae (D) Neisseria gonorrhoeae
FH F ] & g W 7

(A) TIZhEFITEH TR (B) wiHawI s femedar
(C) TEHEINET eI (D) fiwafen mafEr
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135. Which type of mammary glands are present in human female ?
(A) Apocring (B) Merocrine
(C) Holocrine (D) Eccrine
HTE] HIE § T T1A i © Fohm o6l TRl S & 7

(A) TITHEA (B) HRBHEA
(C) s (D) TghrsA

136. Disease caused by deficiency of Vitamin — C (Ascorbic acid) is

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets m4E
faerfim -t (C) (werifefe ufie) &t it @ 2R AN TR Djfia
(A) T (B) -3
(C) wHel (D) frbem
137. In which phase of cell division process of synapsis occurs ?
(A) Pachytene (B) Zygotene
(C) Diplotene (D) Diakinesis
iR fererer = s ot wrareen # Rafcag 6 afrn 2 2 2
(A) THERA (B) dmemied

(C) fewifen (D) TEHEAHE

138. When medical termination of pregnancy was legally approved in India ?

(A) 1947 (B) 1971
(C) 1958 (D) 1960
WA ¥ Faferceia wmid weros &t S el e YgH i 7
(A) 1947 (B) 1971
(C) 1958 (D) 1960

139. Where is the institute that developed ‘Saheli’, a contraceptive pill, located in India ?

(A) Bangalore (B) Ahmedabad

(C) Lucknow (D) Chennai

geelt’ e T - e et B el F e eegm, wid 3 el fed 8 7
(A) FTeR (B) 3TRHIETE

(C) & (D) =T
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140.

141,

142.

143.

(76) PL-2

Example of Rabi crop is

(A) Wheat (B) Groundnut

(C) Maize (D) Soyabean

) 6 BEe T IR -

(A) T (B) et @ﬁ
EEY.

(C) a1 (D) TR

Which teaching method was popularized by G. Stanley Hall ?

(A) Psychometric method (B) Anecdote method
(C) Questionnaire method (D) Case-history method
Sft. Tl et 4 M it Fovegon fafy 1 wfeRfm w7

(A) wfirefta farfyr (B) werl fafy

(C) st fafy (D) =afaq-gfaer fafy

Characteristics of continuous and comprehensive evaluation is

(A) Durational aspect (B) Continuity
(C) Omniversal development (D) All of these
Td TG ST Teioh o1 fareel & —

(A) Srefereh Tae], B) e
(C) Wil faebr (D) @ w

Which of the following is not an advantage of teaching aids ?

(A) Expensive material (B) Motivation and interest

(C) Effective for slow learner (D) More efficient learning possible
frerferfiaa & & wi ar e -weme snnd w1 o T 2

(A) werht wmh (B) STm 9 TerehaT

(C) firee areri % forg wureh (D) Hge TH i Wi qva
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144,

146.

(77

Which of the following is not a correct example of muscular force ?
(A) A person lifting a bucket of water placed on the ground with both his hands.
(B) A person lifting a book on the table with both his hands.

(C) A person stops rowing a boat with both his hands then boat stops after travelling
some distance in the water.

(D) A person pushing a table placed on the floor with both his hands.

fifera o @ N w1 U3ia 7 1 9 S A R 7

(A) Tt safer gro s 21 gl & onfia o vt ot < st 6 s |

(B) fepeht safer gro 3t il 2101 © B T i Uk e i 39 |

(C) fert safer grr 31 STl @121 & 11al 1 g oL S T, T il TR 3 e gt e & ST |
(D) foreft wafea gror o S 21l & el ot Tl B B ek |

. If a simple pendulum takes 40 seconds to complete 20 oscillations, then the time period of

the simple pendulum is

(A) 2 second (B) 0.2 second

(C) 5 second (D) 0.5 second

A U T St 20 Aot T H H 40 YHVE A1 2, A1 T At 1 SFAHIC 2 ¢
(A) 2TFTE (B) 0.2 4%0g E%g

(C) 5¥=TE (D) 0.5 8FTE a3

A cold steel spoon 1s dipped in a cup of hot milk, then its other end -
(A) becomes hot by the process of convection.

(B) becomes hot by the process of radiation.

(C) becomes hot by the process of conduction.

(D) does not become hot.

WIeT 1 T 38! T I TH 4 % H9 H o T 361 g8y [0

(A) e SIshaT 3T T & S |

(B) Tarferor wfsran gry e &1 o |

(C) e W3R ZRT TR & S |

(D) T T & |
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147.

148.

149.

(78) PL-2
The image of an object formed by side glass of motor vehicles is -
(A) erect, real and smaller in size than the object.
(B) erect, real and bigger in size than the object.
(C) erect, virtual and smaller in size than the object.
(D) erect, virtual and bigger in size than the object.
w1 e o vl o gy O e (o) 1 s e wfafers g 2 -
(A) i, arafeaes qur AR # 95 (frar) A s |
(B) ©fe, sreaforss qun ares o axq (famr) A9y |
(C) ©iem, amureh a7 arge ° 9 (fms) @ B17 |
(D) e, STTER 9T AT H 9 (fa) | 9 |

AR
ﬁ =

The correct statement for loudness and pitch of the sound in roar of a lion -

(A) Loudness high, Pitch-high (B) Loudness high, Pitch-low
(C) Loudness low, Pitch-low (D) Loudness low, Pitch-high
9 i eg1g | tafv 1 yeerdr v qied & faq wdt e 2 -

(A) Saodr 3feeh, TReT 31 | (B) Seetar 3féeh, e 9 |
(C) vaerl %8, die F4 | (D) EdT HH, AR 3 |

Which of the following device is based upon magnetic effect of electric current ?
(A) Electric bulb (B) Electric fuse

(C) Electric bell (D) Electric press

forerifena 3 @ ferge om0 & Traehia v W aeia 3 2

(A)  foregr s (B) faga

(C) fergaad (D) foregd i

. Which planet 1s least dense among the following planets ?

(A) Saturn (B) Mercury
(C) Mars (D)  Jupiter
fetifend T8 H @ 19 9T U Ged HH gEA 2 7

(A) M (B) =

(C) e (D) w&wfd

L4
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SECTION-IV(b) / @US — IV(b)
SOCIAL STUDIES / QTHIeh 318794

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

58 @Ug A et 60 T 2 | o srafefal 3 3w fow o1 wm v @ 3 ot wee e e R

91. How many sub-committees have been mentioned by Magasthenes to conduct military
activities in the Mauryan administration ?

(A) 4 (B) 6
() 8 (D) 10
frreerts 3 e yemem 3 e nfafafia 3 gerem & fo forah sa-afifisi =1 o feran 2 7
(A) 4 (B) 6
) 3 (D) 10

92. What was the land donated to Brahmins in the Gupta period called ?

(A) Vellanvagai (B) Shalabhoga
(C) Devadana (D) Agrahara
TTeRTel § SR <l i1 Yt g <) STt oft S8 R hEd 9

OF 0]
(A) FoemamE (B) ST E]%ﬁf
(C) cagH (D) 3TRER

93. Which was the capital of the Chalukyas ?

(A) Madurai (B) Amaravati
(C) Bharuch (D) Aihole

T %1 TSI % = o 7

(A) 7R (B) 3maEdt
(C) %9 (D) Vg

94. Who was the first Sultan to visit the “Shrine” of Khwaja Muinuddin Chishti ?
(A) Qutubuddin Aibak (B) Iltutmish
(C) Muhammad bin Tughlaq (D) Alauddin Khilji
G IE1eH Favet 1 “0Tg” W 31 STl Tael ged™ HH 97 7

(A) AL Ua (B) geqafuy
(C) Trwg fom rereh ) BEGIECERCEE
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96.

97.

98.

99.

(80) PL-2

The Polaj, Parati, Chachar and Banjar land types belong to which period ?

(A) Maurya (B) Gupta
(C) Sultanate (D) Mughal
qYeret, TelT, TR SR i % TR fohd e @ wafia d 7
(A) @H (B) T

(C) ¥edd (D) 9T

Which was Akbar’s favourite style of Calligraphy ?

(A) Nastalig (B) Kufic

(©) Manzi\]—abadi | (D) Herat E5E
e h Gotd <hl vEeie] diefl B H ot 7 %%{f
(A) TEafcTe (B) Hi%

(C) et ST (D) &

Who painted a picture titled “The Relief of Lucknow™ about 1857 ?
(A) Marshal (B) Miss Wheeler

(C) Thomas Jones Barker (D) Joseph

“z fieftes 31 aas” e foar 1857 % fowa 3 fovem saman ¢

(A) ARIA (B) firg &dier

(C) iTg S STt (D) JEH

Who was the author of the book ‘Gulamgiri” ?

(A) Dayanand Saraswati (B) Swami Vivekananda
(C) Jyotirao Phule (D) Raja Rammohan Roy
AT AT [Edh o @ ki 9 7

(A) TIMT =T (B) Tt faeeprg

(C) enforr et (D) T THEA TF
‘Family Welfare” subject is given in which schedule of Constitution of India ?
(A) 4 (B) 6

) 9 (D) 11

‘iR eI’ v wia & wfaur 6 g srget A g 2
(A) 4 (B) 6

€y 9 (D) 11
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100.

lﬂlo

102.

103.

104.

(81)

Who has the power to amend Constitution of India 7

(A) Supreme Court (B) Only Lok Sabha
(C) Only Rajya Sabha (D) Parliament

R & HIUH T TIMeH A 1 Tl 8 I 2 7

(A) FIqH =TT i (B) T i TT HI
(C) T =T T (D) TEEH

When is ‘Legal Services Day’ celebrated in India ?

(A) 1 January (B) 10 August

(C) 9 November (D) 10 December
e § forfrer dan oo’ e s s 2 7

(A) 13 (B) 10 3R

(C) 9T (D) 10 femmr

State the correct sequence of words mentioned in the Preamble of the Constitution of
India.

(A) Fraternity, Equality, Liberty, Justice. EiE

(B) Equality, Liberty, Justice, Fraternity. &%ﬁf

(C) Liberty, Equality, Justice, Fraternity.

(D) Justice, Liberty, Equality, Fraternity.

I < WAGT <l S¢ehT # afvfa wsg) o7 Wl ST I |

(A) agm,aw,wam,m (B) 9HdI, F:IT‘F:{HT, 1, Eﬁ:l‘?ﬂ

(C) Tad=dr, 9udl, =T, SYdl (D) =T, WaAdl, 9Adl, YT

When was “Protection of Children from Sexual Offences Act (POCSO)” came in force in
India ?

(A) 2008 (B) 2010
(C) 2011 (D) 2012
WA & “TfireR S § STerhl w1 FE At (Teh!)” He AR e
(A) 2008 (B) 2010
(C) 2011 (D) 2012

Which one is not included in ‘Fundamental Duties” given in Article 51 A ?
(A) To Pay Taxes

(B) To Defend the Country

(C) To Safeguard Public Property

(D) To Develop the Scientific Temper

fra g gl w arese 51 % 1 ey o w<er F onfae i 2 7

(A) U &1 PTAHE | (B) Q@RI & |

(C) THAH T B @ | (D) ST giecshivn &1 fahmd #1 |
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107.

108.

1{'9.

110.

(82) PL-2

. Which Constitutional Amendment determined the size of the Council of Ministers ?

(A) 81 (B) 91
(C) 101 (D) 102
forg faum gy g nhmfg 1 smer fuifa e w2
(A) 81 (B) 91
(C) 101 (D) 102

*SVEEP” is related to
(A) Voters Awareness Programme (B) Rural Swachhta Programme

(C) Urban Swachhta Programme (D) Corruption Control Programme
‘wfla’ (SVEEP) Heiftrd 2
(A) TGEAT STRESHAT SHIasHw (B) Tl Teesar shidshn
(C) &l Tl Hrshy (D) yeeram few shrdshu
“The Dispute between two States” is part of which jurisdiction of the Supreme Court ?
(A) Original (B) Appellate
(C) Advisory (D) Wnit
“T U1 & 9 foame” 3wy =Red + fra aanfuen o e g
(A) Hifeh (B) et
(C) TaErt (D) T (atere)
The *Theory of Basic Structure” was propounded by the judiciary in which case ?
(A) A.K. Gopalan (B) Kesavananda Bharati
(C) S.R. Boomai (D) Golaknath
'ge T 1 fagra’ =mrnierent 1 fopw arg 4 wfaurfea feran 7
(A) .3, THEH (B) HIEME YA
(C) TH.3R, IS (D) TieTHTY
_ _ o ERE
Which of the following statements is false ? ‘Eﬁ’?

(A) The earth is also called a blue planet.

(B) Venus is considered as “Earth’s — twin”.

(C) Saturn is an Inner planet.

(D) Mercury completes one orbit around Sun in 88 days.

i g wHyE w2 7

(A) Tt FFmm st Fa I |

(B) % 1 72t %1 [ga 7g WA 1 2 |

(C) WM T A TR 2 |

(D) T4, §F o T IR TH TERAT 88 T § [t 2 |

When it is 10.00 AM on 0° longitude, what time will it be at 15° east longitude ?

(A) 11.00 AM (B) 11.00 PM
(C) 10.15AM (D) 09.45 AM
T4 0° SR T gz o 10.00 7 @ §, 7 15° I o= T T w2 amm 2
(A) 9TE: 11.00 (B) TR 11.00
(C) 9 : 10.15 (D) TH: 09.45
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111.

112.

(83)

The place in the crust where the earthquake movement starts 1s called as -

(A) Focus (B) Epicentre
(C) Vent (D) Crater
T 5 A 77 R Rl S ST N 2, FT € -
(A) 3T HZ (B) 3ferheg
(C) e (de) (D) %A

Earthquake and Volcano are caused by -
(A) Endogenic forces

(B) Exogenic forces

(C) Endogenic and Exogenic forces
(D) Solar forces

T SR STATCTE! Tied B 1 BRM 2 —

(A) it g1 (B) afgsifa &t

(C) 3iaid Ud sfgaitd oel (D) Hidsd o
113. The Agulhas current tlows in which ocean ?

(A) Arctic Ocean (B) Atlantic Ocean

(C) Pacitic Ocean (D) Indian Ocean

IAZTE YT 1A 8 HZEER H YaTfgd Eit 2 7

(A) 3TRE(E TR (B) AR AR

(C) W= eI (D) fe=e waramR
114, Who was the first General of Archacological Survey of India ?

(A) Lord Comwallis (B) Sir John Marshall

(C) Alexander Cunningham (D) Willhiam Bentinck

R AT Ta o o Fget el i o 7

(A) ©iE Hiarfed (B) &S At

(C) TS HiAem (D) faferm dfé=

OF10)

115. Which statement 1s true regarding The Therigatha ? Eﬁ’f

. Thisis part of Sutta Pitaka.

Il Is acollection of verses composed by Bhikkhunis.

IIl.  This is part of Vinay Pitaka.

IV. It provides an insight into women’s social and spritual experiences.
(A) LILII By LILIV

(Cy ILIL IV (D) LIV

FMeT & HaY B B T HH TA R 7

I 92 9 fes 1 e 2 |

. 3o | T T B 1 Ehe feRar T R |

L 52 foa fiew w1 fewn 2

IV. god Afgensit & amites it snenfies sryel 3 ar 3 s frerd 2 |
(A) LILII (B) LILIV

(C)y ILILIV (D) LILIV
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116.

117.

118.

119.

120.

(84) PL-2

Vardhman Mahavir belonged to which dynasty ?

(A) Lichchhavis (B) Haryank
(C) Shakya (D) Satavahana
A HETe fobd a9 d e & ?

(A) foreadl (B) &+

(C) (D) HTddTE

Why Magadha was the first among the Sixteen Mahajanapadas ?
(A) Agriculture was especially productive.

(B) Presence of [ron Mines.

(C) Availahlity of Wild elephant.

(D) All of these

TieTe WETSIET A Y WYH i o 7

(A) el &Y 3o =1 2T | (B) g sl @aH &M |
(C) Sreft g1eft &1 Ieted BT | (D) 3Tt

Where is the Harappan site called Lothal located ?

(A) Rajasthan (B) Gujarat
(C) Haryana (D) Kashmir
o OF0}
Aol AT FSUTS TE Hel R g 7 E—gﬂf
(A) TSRIH (B) TSI
(C) EhEmm (D) =R
Barygaza was the Greek name of which port of ancient India ?
(A) Bharuch (B) Arikamedu
(C) Puhar (D) Madurai

ST SN WA % M § SEUIE A A o7 7
(A) W& (B) WAFMg
(C) TR (D) #g

Chola inscriptions mention several categories of land. Among them Vellanvagai was
(A) Land of Non-Brahmin Peasant proprietors.

(B) Land gifted to Brahmins.

(C) Land for the maintenance of a school.

(D) Land gifted to temples.

I srfirerat § gfy it faft sifeat 1 3oerg firerar 3, 378 9 “Ieeramd” 1 w9y o
(A) TR-simem foram wamft i yft (B) STRIV 1 IR & & 71 yfy

(C) Tereft ferenera & e & fow gy (D) wfer it swam d & 8 iy
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121.

122.

123.

(85)
Match the following :
Festival District
(1) Camel festival (a) Jaisalmer
(2) Desert festival (b) Bikaner
(3) Kite festival (¢) Udaipur

(4) Mewar festival (d) Jaipur
nHn @ 6 @

(A) (b) (@ (d) (¢
(B) (@ (b) (c) (d)
(C) (@ (¢) (a) (b)
(D) (@ (by ) (¢
frer =t gafera hifu -

IEa foen

(1) F2 3T (a) TR

(2) T3 (b) B

(3) THIIEE () FAYW

(4) vEEIEE  (d) AR
m @ B3 @

(A) B @ @ ()

(B) (@ (b (¢ ()

© @ © @ ®

D) @ ® @ (©

3
e
=4z (=]

Which of the following statements 1s false ?

(A) Jawahar Sagar Sanctuary is in Kota, Bundi, Chittorgarh.

(B) Kesar Bagh Wildlife Sanctuary is in Dholpur.

(C) Semi-tropical evergreen forests are also called monsoon forests.
(D) “Kalpvriksh of Rajasthan” is Rohida.

I g+ AT HYT W 2 7 hitps://www.pyqonline.com

(A) TETE AFR TRV 17, 8, Fadiemg 1 2 |

(B) R ST Fralig 9RO S E 2 |

(C) 3@ SWIhHfeaH I TSEER a1 i WHEHA 9 ft F&d 8 |
(D) “TTEYH %1 Fevgel” Ufger 2 |

Which is not correctly matched ?

(A) Luni—Jon (B) Banas — Menal
(C) Mahi - Banganga (D) Chambal - Parvati
i | w gulerd T 2

(A) A - (B) &TE — T

(C) = — s (D) =&l — Tt
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126.

127.

128.

(86) PL-2

Who built the *Varaha temple™ at Pushkar near Ajmer ?

(A) Ajay Raj (B) Aruno Raj
(C) Vigraharaj IV (D) Prithviraj Chauhan
TP < T TRy e A g wfeE” Rt femior feRe e ¢
(A) IS (B) 3T
() fomrerst =g (D) g =
. Who was the political agent of princely State of Sirohi at the time of 1857 revolt in Rajasthan ?
(A) J.D.Hal (B) Eden
(C) Major Burton (D) Mac Mession
Ty A 1857 <61 shifd * g fad famea s aiferfors wie i o1 2
(A) 3. & (B) A
i
(C) W FEH (D) % Be El%‘f
Motilal Tejawat was a resident of which village ?
(A) Falasiya (B) Samalia
(C) Colliery (D) Mangarh
HideTe dTrad fehd 77 o fameft & 7
(A) et (B) wmfer
(C) iferardt (D) "G
Which literary work of Kanhaiya Lal Sethia was given Suryamal Mishran Award in 1987 ?
(A) Leeltans (B) Nirgrantha
(C) Dharti Dhora Ri (D) Shabd
1987 1 gdHeet o Jrehr H-aameira Sfsar = fora wifgfers w  fearmn 7
(A) ofiererd B) foiy
(C) atd g & (D) @Eg
“Hathal village” 1s associated with which princely state in the integration of Rajasthan ?
(A) Kishangarh (B) Jhalawar
(C) Pratapgarh (D) Sirohi
“B1E Tiid” T e TSI % Tehiehto § b o} famaa & qer g 7
(A) TehIrTg (B) STeATeTS
(C) wamTe (D) feli
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129.

130.

13[0-

132.

133.

(87)

Governor General Lord William Bentinck named which fort as the second Gibraltar in the
world ?

(A) Mehrangarh (B) Nahargarh

(C) Siwana (D) Taragarh

TR et wite faforem siféen 3 fora gt ot g <1 g et a8 7
(A) HETRE (B) EwTE

(C) T (D) dRFTE

Which fair of Rajasthan is called ‘Kumbh of the tribals’ ?

(A) Beneshwar Fair (B) Kaila Devi Fair

(C) Jeen Mata Fair (D) Diggy Fair

“STfeaTTRiT 1 Fu” TEIH % B 8 Tl H1 FE AL 7 -
(A) SOTZEL T (B) het &t Fem ﬁ%‘f
(C) Hommrar & (D) feuft e

Thamanyo, Thedyo, Aad and Thussi ornaments are worn by women in which part of their
body ?

(A) Head (B) Neck

(C) Hands (D) Waist

o, g, TS, FA T AT A gr Fat uwor R e F 7
(A) fmd (B) o H

(C) #¥H (D) FWH

“Maharaja School of Arts and Crafts™ was established by which Rajasthani ruler ?
(A) Sawai Jaisingh (B) Sawai Ramsingh

(C) Jagat Singh (D) Jaswant Singh

“WERTST TR S TTEH U 1y hl T Tt Tromeeyeh smesh gy shtamht it ¢
(A) e Stz (B) @ mide

(C) wafdg (D) STz

“Valar dance™ is performed by

(A) Female (B) Male

(C) Male and Female (D) None of these
“qTeR Fea " Tersreh g foRar ST @ ¢

(A) ®igm (B) e8GR

(C) FT TR (D) T8 4 B T
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134.

136.

1370

138.

(88) PL-2

After attaining which of the following objectives, a student can correct any given error in
amap ?

(A) Gaining Knowledge (B) Development of Understanding

(C) Application of Knowledge (D) Action Skills Development

fe 1 4 for Sy Y wwifeq o feoemeff foreft wfea | sifera srfgai s et sa=pa 2 7
(A) FERH (B) e %1 fereprd

(C) FHM (D) Torerewrs el &1 faserm

. “Education is nothing but the socialization of the younger generation.”

Above mentioned statement is given by which scholar ?

(A) Durkheim (B) Bossing

(C) Anstotle (D) T.P. Nunn

“firen ¢ it o mmmfeson % sifafes 5o 9@ 2 1w w2 -

(A) @ (B) wifam E4E

(C) 3IE (D) .9 T

“Model of understanding level of teaching” is also known as

(A) Herbert’s Model (B) Morrison’s Model

(C) Ausubel’s Model (D) Turner’s Teaching Model
“Aieel AT IFrSTETET elad 3% A =i 38 W & ot T Aar 2 -
(A) & Tied (B) WifEH Higa

(C) WSS Wige (D) R N nig

Which of the following teaching objective is not associated with Benjamin Bloom’s
Cognitive Domain ?

(A) Knowledge (B) Receiving

(C) Analysis (D) Evaluation

1 5 9 9= S0 & SIS U 8 g B a1 e 5w 98 8 7
(A) FH (B)  stfomrgor

(©) s (D) T

According to the nature of instructional method, project method belongs to —
(A) TCI(Teacher Controlled Instruction)

(B) LCI(Learner Controlled Instruction)

(C) T-LCI (Interactive Procedure Instruction)

(D) GCI (Group Controlled Instruction)

ITCI TA1eh oAl Fehfd o SR e fafy wmafe 2 -

(A) A3, (s FEha srem)

(B) a3 (fraeff fafa argesm)

(C) 3.-wa.dh.ams. (3eifdea vlsman srgeem)

(D) i3, (uyg fefa smeem)
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139.

140.

141.

142.

143.

(89)

Which of the following formula can be used to represent the “Measurement and
Evaluation relation” ?

(A) Measurement = Evaluation + Assessment

(B) Evaluation = Measurement + Assessment

(C) Measurement = Evaluation

(D) Assessment = Measurement + Evaluation

ed A Td AT o Ty o fqufon frer 8 & fre g gro wefifa frr s 2 ¢
(A) T = earshd + Ged feior (B) YA = A1 + e fertaor

(C) ¥ =T (D) Yo Fufo = oT + geied
Which of the following steps is not a part of “Project — Method™ ?

(A) Creation of the situation (B) Selection of project

(C) Analysis of information (D) Evaluation of the project

i 8 3 =9 o1 ve yEea faf a2 2

(A) uftfeafa se= = | (B) WM %1 97 |

(C) gF & fagerm | (D) STESHT %1 qoTeh |

Which of the following suggestions were not presented for the continuous and
comprehensive evaluation of National Education Policy-1986 ?

(A) Evaluation should be aim-based.

(B) Nature of evaluation should be vast.

(C) Evaluation should be done regularly.

(D) Intensive training is not needed in making of question papers.

TPt e - 1986 H geariohd ol R iR samaeh s o 3ia e game g fea mn -
(A) A Tl ST g1 e |

(B) I 1 T SATTF B AR | E%%

(C) T e fopann ST =nnf | B

(D) S9T= fmior 7 sreamaent s e ufdneor Y sravaehar 48 2

Which of the following is useful in class-room teaching comparative study ?

(A) Poster (B) Time lines

(C) Sketches (D) Graph

- Fer ¥ qerenes a1eree % forg srah g 2 -

(A) TR (B) THI-ATAHIT

(C) Tt (D) UT%

A student can learn about the culture and folk life of ancient and modern times through
(A) Tour (B) Museums

(C) Observation (D)  All of the above

TR UF GH Tt %l T Ud T —i1eH o1, BT T8 €Y § T JI< Bl 8, 98 TUH 8 —
(A) 9T (B) WUE

(C) IFaclie (D) I wift
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144. The newer, younger deposits of the flood plain in North-Indian plain, are known as -
(A) Bhanger (B) Khadar
(C) Bhabar _ (D) Terai
TR -y Fem 3 ag il T2 - fedt o S e E -
(A) WTR (B) T
(C) W (D) E
145. Which is the most wide spread forest in India ?
(A) Tropical Deciduous forest (B) Tropical thorn forest
(C) Tropical evergreen forest (D) Montane forest
WA ¥ Sad d I A 97T A B AR 7
(A) IEHTEHHE ToiaTe (B) Irwfeatta wideqr =
(C) Iohfeasfia Teeer o (D) THdHE &
146. Which crop is known as “Golden Fibre™ ? oo
(A) Cotton (B) Jute i
(C) Hemp (D) Natural Silk [EF.
H H FE I “GIEU {0 T AT AR ?
(A) HIE (B)
(C) & (D) i Tm
147. Metallic mineral pair 1s —
(A) Manganese — Copper (B) Copper - Graphite
(C) Iron-— Mica (D) Mica - Dolomite
ytfesrer @ie Zm & —
(A) HTHIS - afar (B) e — A%TES
(C) &l — 39 (D) Y% — SRS
148. The biggest selling anti-cancer drug in the world is extracted from which plant in India ?
(A) Arjun (B) Himalayan Yew
(C) Sarpagandha (D) Axlewood
fova o gaw aafer foe arel) sher Ueft afify yRa 1 8 Ne o I 2t 2 7
(A) 3T (B) fewrera 7
(C) e (D) FAFEAIE
149. In the arid and semi-arid regions of Rajasthan, the word “Palar Pani” is used for —
(A) River water (B) Underground water
(C) Canal water N (D) Rain water
TR % I d 314 -3 &1 § “TIeR -9 " 91eg, fepereh foTu sig g1an 2 7
(A) T et (B) T S
(C) el o (D) a9
150. The biggest solar park of India is established in which district of Rajasthan ?
(A) Jodhpur (B) Jaisalmer
(C) Barmer _ (D) Bikaner
ToRYH o %M B et 3 WTE 1 7 71 Tier e wfie femam man g 7
(A) IR (B) SHEenR
(C) dTSH (D) s
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(96) PL-2
INSTRUCTIONS / féw
(Read carefully and comply / &= & 72 3R qrem #X)
IMPORTANT / weeaqef

[

[

. In Section 11 (Language-l) a candidate has to attempt the questions of the language which the candidate has selected as Language-1in the
I Section HIGT anguage-11) a candidate has 1o akcmpt the |.|ug_-.l.iun-. of the language w hich the candidate has selected as Language-1i in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preseribed place in the

. ]]n_ candidate has tn .m-\l.n:; m that subject in Scction (IV a) Mathematics and Science or (1V b) Social Studies as selected by the candidate

Online Applicatipn
b e I R

n. I . PR - - - =
AT W F B e A 2w oamn moSaw et 3 owm [ F B9 8 A aaea-ma § e 2

=11 will be different from Language-L
o1 safererme s Fa AT A o A A - 1 A e A -1 i fEm R - s - Enh o

Online Application Form, The Langu
AU UL AT 1) B FH S e e

OMR Answer Sheet, Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not

ggue}llo oklet N mber
ﬁ@;é“ Mg e oftren g s @ e g, S A
ﬂmﬂﬁégﬁmﬁ %mwﬁnﬁnrﬁm%' OMR H1Z 1 ST

in the Online Applicaton Form.

If a candidate answers the questions of EhL language or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it wo |I h.l .m,.j}.u wrong, o

e = 3| WE-TE F avE n'a} a1 (v by amtrE s § 3 fwg & we @ e aen 2, e fam s et
A AHATIA AT FURLE RET T o v - . o
iz werdi aTaE m-ww:mﬁﬂmmﬁmfﬁwmzﬂmqmdmhwiﬁummmm%maﬁ werdi 1w F fEEm
B AT Teld /AT AT |

(]

1),

Read complete instructions carefully and fill the details from SL No. | to 7 in the OMR Answer Sheet and 51 No. 1 to 4 in the Question
Booklet. If yvou fail to fill the details and sign as instructed coreectly, vou will be persanally responsible for the consequences arising during
scanning of your {}\IHAJ]‘-\L&I Sheet.

5 o B @ e Z AR w137 7% OMR ufie v FA 1 8 0 7% we-ham (FEee) @ oa | 3tz smoaem i & faa
ﬂmmﬁﬂmém(}fﬂkm?tﬁlwﬁﬂawmmwmmwﬁ Eieies ples e |

The l)m,»‘uc:n Baooklet l,nm]msgs\‘]'ﬁ Pages hay ||]g_ 150 quc'.tican\_ After hcing instructed 1o open the Booklet, only then the candidates will apen
the Question Booklet scals. Check whether the Booklet contains 150 questions starting from Page No. 3 1o 90 The Shift Number required in
OME Sheet will be as per admit card |\-uul o the candidate and also mentiongd un 1hg top of llu Question Booklet.
wsA-iETF] 7 96 98 T 150 Wi § | G .er‘fﬂ‘mTWPWH &1 #@ g | a8 _vF'IT"-'-‘J-;T‘?IﬁT-FFI'HHU
wid & A T yw w3 8 Wi we ';0 % 8 | OMR stz v furge wva -mm F A FEE T AT s i wen & vg A
Werl -Qfea o S AT 0 A A R v 2 |

All questions are of MCQ (Multiple Chaoice Question) type. There is only one correct answer to each question carrying one mark. There
will be no pegative marking for wrong answers,

kb WERFE | e e o e A & |y ne i el il o w8 e wae F B o s e g i
All questions other than language questions of Sections 11 and I1I shall be bilingual.
WHFE-9= % ATHT wWoE [ TA 11 & Wt & wfafea o ad gvat & v fyamdm g7 )

Inany event of any mustake in any question's, condidates will not be penalized. However ne corrgctions will be made in question’s durng the examination.
vy 1 Tt s = ford a1 Tedt wepme = et =128 =2m ) e = i1 3 AT 8 T WeRT o AT A AT A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the
ugstion Booklet, No additiopal paper shall be provided.
1 WoFTE O TF T4 2 WA -1 A 8 e A W 2 | 7 e - @ A e, | Famft s Ao s saeen wd e |

Use of Log tables, Caleulator, Slide rule, Maobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic itemiinstrument
ete. 1s not allowed. Their use will result in disqualjfics nlon . L. . i
P P, FeFgeed, T T, AEES T, 4, I, ey, WEEEE M fEh g vER @ il 39 4 a w owEm atie
?l?ﬂtﬁ—mq—ﬁ.nq:ﬂmtrrfﬁhmmm?l )
OMR Answer Sh a8 will be prov ti-s.cl along with Question Booklet separately,
OMR T2 9 - & |14 WETA o AT |
The Chuestion [3m1k||.‘l will be I‘-‘-lILd to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
AnswerSheet. The Question Bookletscal shall beopened S minutesbefore the start of examinationand the candidate must Gl 1 tod entries correetly
on the Question Booklet, Afteropening the Question Booklet, ensure that any page/ question is not missing / not printed / tomn / repeated. In case,
vou find any defect !11'\.'\.\|1=_|L in the Quu.tltrn Booklet, immediately inform the 1n'.|~!|l vorand getnt IL|'I! wed within 5 minuics h\ the |n\1"l| WO,
Warning Bell will ring at 5 minutes before eloser of examination and the last long bell will ring at closer of examination.
sl 1 WA -YTEAE] T s B F 10 A 9d AT | A AEyEE ' A OMR iz § A qfafLem T AT WEE AW | WA
qfere i @ T e F <F:a-|-.'~:rq‘?§1‘r=r=1'm:rqm | 4'.ﬁwﬁ|1??a‘r TE T A |m‘r-qﬁ=ﬂnm?-rl:rqaﬁq'ﬁmmm
a4z qiiswa # 5 Zaw_feifs aam 9 8 'FI"‘;IFI?, AT A 2 PE QW # AT Wel A1 A9 ¢ A e AR A2 T2 | Al g

1Erﬁr—r ?ﬂﬂfﬂﬁ?#ﬁ'mﬁqmmnr—r T W | SAE g

anﬁ?%fﬂ'ﬁqimmnﬁ'ﬁ aﬁqﬁhnmﬁwwm
Write your Name, Exq im Center Code, Signature, Roll No., Question Booklet Sernies Code, Shift Number and Question Paper Booklet Number
in the space provided in_the Question Booklet as well as in_the OMR Answer Sheet.
aa-qﬁ%ﬂ Trrl}n\m mztr?hﬂf? TIA W AR, W F F FIE, s, A, v -1 @i e, firee s w na giam
With h qucaliurl vou will find 4 |'iil'|hl.hll_' answers marked 15} the letiers A, B, O & 1D, Read each qucmitm C:ll'l_'rl]”}' and find out which
answer, according to you is correct. Indicate vour answer by darkening the appropriate circle completely in the OMR Answer Sheet comesponding
to the question. For m.Lerg_ ANSWERS USC b]llt black ballpoint pen only. Gel pens/peneils are_not allowed.
Wel: WA 3 TR g TULA, B(HI)'E]L"'_-T ?I";I'u"ﬂ'ﬂLWFH'H’?T_*RTHWF_HEF_'REHU\]Humqﬁﬁfﬂﬂﬁwqmzﬁm1
2R T 1 AT A O W | T A 290 2 ﬁwmmﬂ?aﬁmqqﬂﬂmm T | W% U ar e @ s
WRONG ( mrewr WROMNE ey WRONG S wyee

[ orTee! \.I-;‘.|'.t'|.| CORRECT /i W rong ‘\1(.'Ihll|| WRONG /e
T coCoe| ™M WOQO||log0o||lcono||ce0e

OM R Answer Sheet isdesigned for computer evaluation. Ifvou do not Follow the instructions given above and at the backside of the OMR Answer
Sheet, it may make cvaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
OM R e 1 Forezs GRT T & ford S v 2 136 s s v OM R iz 5 free: e w s fasi o arem i e, ot seges g sirve
AT A 21 AT |mmqqﬁﬂn°ﬁﬂmwwﬁhwaﬁcﬂ'ﬁmﬁ=m|

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy { Duplicate) so that the Oniginal Copy is not mutilated
inany way. Candidate should handover the Original OMR ('np\ and Question Booklet to the invigilator betore leaving the examination hall.
Candidate can carry only the Candidate \O\Il-lcup\ with him/her. Quullun Baoklet is not allowed to h-. taken by the candidate.

Frd wiaredi st o4 a9t & T4 W F =17 T8 o W | OMR $ite e dem w sl afm 2 s ardi J0F WERIE
e 2 ) el A @ serl £ whr (aafefn) @ ge ofy w1 i s 5 anfE fel o6 e a nﬂﬁaﬂirﬁ'ﬂhqq—ﬁwmm w
‘H?q?tmqm;_ggkﬁ wfd vd uyA-giea diaw w a g 1 aved e writ OMR $t wh g st wmr @ | Wy
s o | Ll |
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